3 (Sem-1) ECO
2016

ECONOMICS
( General )

( Elementary Microeconomics )
Full Marks : 60
Time : 3 hours
The figures in the margin indicate full marks
for the questions
Answer either in English or m Assamese
1. Answer the following questions : l 1xX7=7
were Tl HPRI Teg T :
{a) What is utils?
Utils &2
(b} Define neutral equilibrium.
fRters seTeR iKE fm o
(c) What is implicit cost of production?
T SRS W R ? '
"(d) Select the correct alternative :
The concept of group equilibrium is
applicable to (monopolistic competition/
perfect competition/monopoly) market.
w7 Reud Tfk SR : ‘
PR S YRR («eiReR A
s/ AR Tue/qwstn TwTe)
2T |
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(2) (3)

(e) Fill up the blank : 3. Answer any three of the following questions:

Rent is a ______ surplus. : : - 5x3=15
ot fral erpyed R e fofver e fm -
R I oR9 ] : |
T TR 73 | _ (a) What is firm? What are the basic
- '- conditions that have to be satisfied for
() Define ordinal utility. equilibrium of a firm? 1+4
TAF TeqeAfrer e i | A 2 @EFET T T6 [ IR 9
(g0 What is scale line? AfSDA SIPAIO! S T ?
(b) Explain budget line with the help of a
T4 1 Forea B @2 dingram. 5
2. Answer the following questi : 2x4=
§ quiestions x4=8 57 fogt TR B @A I A |
TR PTRY Sl fa R .
. . (c) Distinguish between normal price and
(@ In .c-economacs,. what is meant by market price. 5
equilibrium? Give an example of static ) :
equilibrium. TOMRTF 71 SF IS[E =S N 38l |
HfRES SETel A &9 (e sreTreN (d) Distinguish between money wage and
b1 SRt B | | real wage. , 5
(b) What is indifference curve? T TR T AT TR N7 st |
s @4 I QA2 fe} Explain briefly the relationship between

() Mention two characteristics of average cost (AC) and marginal cost (MC). 5

monopolistic competition market. S T WIF 2A1fFF I T=oF 5T 31 41 1
GFRPR SRR I/ B tafsy Sy 4. Answer any three of the following questions :
0 o 10x3=30
(d) Point out the difference between risk and oS i 2 R o fobr S i -
uncertainty. (a) Explain consumer’s equilibrium with the
. help of indifference curve analysis. 10
TR S RHTER AT AL P Y
- A ™ SIgERIR fiaeerms qau RowR RS cor SRl
Fq M
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4)

(b) Explain constant returns to scale.
Distinguish between economies and

diseconomies of scale. 8+2=1(
TR R dafmm 3 <911 T Beomas
oo a7 Sfiegior «143 @ysan |

(c) Define market. Classify market on the
basis of competition. Discuss the
characteristics of perfectly competitive |

i

market. 1+2+7=10
/A A w1 aRwmier Rts wr”e '

chRen #4911 o ARa I @FEPER
A 41 |

(d) Explain how wage rate is determined
under the  condition of perfect
competition in the product market as |
well as labour market. 16
7Y T F 21 6 7 e g
Neeet 7GR vz Fidra T =, a1 311

(e) Critically explain the uncertamty bearing |
theory of profit. 10

WWWWWW
|

(f) Distinguish between short run and long
run. Why is the short-run average cost
curve U-shaped? 2+8=1(
TE UF MR AR NdH (igedi |
TIPEN SRES % TR @ R U

ST = ?

, * % K |
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